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Direction: Q. Nos. {1 — 5): The following questions are based on the following table, which gives

year wise production of Vehicles:

. Type 2010 2011 2012 2013 2014 2015
I 1 60 80 75 85 90 [T
o 28 40 40 60 65 71
1 30 45 53 70 75 78
v 30 60) 120 90 100 92
vV a0 55 52 &S 90 95

Total | 217 | 280 340 390 420 430

1.

1.

The production of vehicles in 2015 is approximately how many times that of the
production in 20137
A)1.10 B) 0.90 C)1.20 D) 1.50

In which of the following years did Type V vehicles register the highest production in the
total production of the year.

A) 2015 B) 2010 D) 2011

C) 2014

For which type of vehicles was there a steady increase in production over the given years:
A}l B) 11 cym D) IV

In which if the following years there 8 maximum increase in production of Type 11 .
Vehicles compared to the previous years?
A) 2014 B) 2012 C) 2015 D) 2013

What was the approximate increase in the production of all type of vehicles together from
the year 2011 to 20147

A) 50% B) 40%

C) 30% D) 20%

() iz shorter than P, but taller than R, R is shorter than P But taller than A. If they stand in
ascending order of their height, the sequence is:

A) ARQP B) AQRP C) QPAR D) RPOA

A man starts walking towards South. Afler 5 km he again tumns left at right angles. In
what direction is he is finally walking?
A} North B) South C) East D) West

in a certain code PROSE is written as PROQE. How would LIGHT written in that code?
A) LIGFT B) LGGHT C) LGGFT Dy NIEHR

A clock pains 15 minutes per day. It is set right at 12:00 noon. What time will clock show
at 4:00a.m. the next day? -

A) 4. 10am B) 4.15am C) 4.30am D) 5.00am

If two numbers are in the ratio 6:13 and their least common multiple is 312, then the
larger numbers is:
A) 12 B) 26

C)24 D) 52



Directions . Nos. {11 — 15): The following table gives the data of the candidates selected inan
industry (in thousands) from different disciplines:

i Candidates Selected
2011 2012 2013 2014 2015 2016
Science 16 20 25 15 14 16 |
Arts 4 B 9 10 11 13
Commerce 8 12 12 11 15 13
Law T g 5 3 (1] i
Computer Science 10 14 18 20 28 | M
| Others | 1 2 1 1 |
 Total 46 fd 71 60 72 gl

11. Which discipline showed the greatest decline between 2012 and 2014 selections?
A) Science B) Computer Science C} Aris D) Law

12. For which discipline there is no change between the candidate selected in 2011 and 20167

A) Arts B) Computer Science C) Law D) Commerce

13. In which year for the first time Computer Science discipline constituted more than 25% of
the selected candidates:
A) 2011 B) 2012 C) 2013 D) 2014

14. For which discipline there is no change between the candidate selected in 2011 and 20167
A) Commerce B) Science C) Law DY) Arts

15. Which discipline has shown the greatest rate of interest in its selection 2014 to 20167

A) Arts B} Computer Science C) Law D) Commerce
Directions {). Nos. { 16 — 20): Refer to the table given below:
CURRENT & PROJECTED SALES
1989 — 90 1994 - 95
| Exports 15 &0
Domestic 13 (5}
Vendor 8 27
Data pro 4 5 |
16. What is the share of vendor sales in total sales in 1994-957
A) 15.6% B) 1.11% C) 0.71% D) 6.12%
17. What is growth percentage of total sales in the period?
A) 413% B) 33.3% C)1.87% D) 398.6%
I8. If export sales had grown at the same rate as total sales, export sales in 1994-95 would be:
A) Rs, T2er B) Rs. 49¢r C) Rs. 65¢cr D)y Rs. §ler
19. What 1s the ratio of exports sales to domestic sales in 1994-957
A) 1.37 B) 1.21 ) 1.11 D) 1.31
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20, Which segment(s) has/ have shown the highest growth rate?
A) Domestic B) Vendor C) Data Pro D) Export Sales

Directions Q. Nos. (21 — 25): Study the table given below and answer these questions.

Season wise consumption of Fertilizers (000 tones of nutrients

Year Kharif |  Rabi Total | Percent Karif | Sahre Rabi |
199697 | 6920 | 7338 14308 | 484 51.6
1997-98 | 8092 8096 16188 50.0 50.0
1998-99 TR34 %964 16798 46.6 514
~1999-2000 9304 o84] 19145 48.6 514

1. The consumption of fertilizers was almost equal during both the seasons in the year:;

A) 1996-97 B) 1997-9% C) 1998-99 D) 1999-2000
22, Maximum consumption of fertilizer was during:

A) 1998-99 B) 1996-97 C) 1999-2000 D) 1997-98
13, The percent share in the consumption of fertilizers during 1996-2000 was:

A) Less for Kharif B) Less for Rabi

C) Equal for both the seasons D) Inadequate data

24. The difference between the consumption of fertilizers in both scasons is minimum during:
A) 1996-97 B) 1997-98 C) 1999-2000 D) 1998-99

25. Which season has shown consistent increase in the consumption of fertilizers over the
period 1996-20007

A) Kharif B) Rabi C) Both D) None
Directions (). Nos. (36 — 28): Fill in each of the blanks using a correct word or a correct phrase

from the options given below each sentence:

26. He confided ____lohn his desire to find new job.

A)in B) on C) to D) from
27. The exhibition is the modemn art gallery.
A)in B)on C)of D) at
28. You shouldn’t pick him just become he is different.
A)on B) with C) over D} to
Dircctions Q. Nos. (29 — 32): Of the four options given below, choose the one closest in meaning
to the first highlighted word;
29. EMBARGO
A) License B) Freight C) Tax D) Prohibition
30, IRONIC
A) Literary B) Figurative C) Having Agreement D) Mysterious
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31. MANDATORY

A) Dispassionate B) Obligatory C) Voluntary D) Inveterate
32. EUPHORIA
A) Mandate B) Intoxicant C) Life D) Euthanasia

33. ‘Bank’ is related to ‘Money” in the same way as ‘Transport’ related to:
A) Goods B) Road C) Movement [3) Traffic

M. “Tree is related to ‘Root’ in the same way as “Smoke’ is related to:
A) Cigarenle B) Fire C) Heat D) Chimney

35, ‘Uneasy” iz ‘Quiet’ as “Fit" is to:

A} Proper B} Suitable C) Pertinent D) Unfit
36. “Bail’ is 10 *Jail® is the same way as *Water' is related to:

A} Pitcher B) Container C) Bath D) Tharst

Directions Q. Nos.(37 - 40): In the following questions choose the missing word is place of
sign (7) on the basis of the relationship between the words given:

37, Taka: Bangladesh: : Lira : 7
A) Kuwait B) Italy C) Sri Lanka D) Reyna

34, Ship: Sea: : Camel : 7
A) Land B) Mountain C) Desert ) Forest

39. Letter: Telegram: ; Train : 7
A) Aeroplans B) Horse C) Messenger D) Telephone

40, Calendar: Dates: :Dictionary: 7
A) Vocabulary B) Lunguage C) Words D) Book

Dircctions Q. Nos. (41 — S0): Head the following comprehension and answer the question
mentioned below:

The surge witnessed in mergers, amalgamations and take — over of companies during the
past few years is indicative of the shape of thing to come. While these concepts are not new and
were recognized even in the Companies  Act of 1913, compulsions have undergone a dramatic
change. In the past, merger and acquisitions were used largely as an instrument for revival of
sick units or for obtaining tax benefits. It was not uncommon for a business house to merge a
sick company with a profit making one to claim tax benefits. The objective was not necessarily
to achieve faster growth. The liberalization process witnessed during the late seventies and
cighties and particularly the relaxation of some of the restrictive provisions of MRTP Act, and
FERA, brought about & qualitative change in the mergers and amalgamations of companies.
Even so, the incentive to grow was almost non- existent and in fact some companies preferred 10°
demerge’ by splitting wne company into two or more o — as to escape from the harsh provision
of the MRTP Act.
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The fast pace of liberalization since July, 1991and the time —bound programme of structural
reforms under pressure from the IMF and the World Bank have shaken the Indian industry from
a slumber by exposing it lo internal as well as international competition. Not surprisingly, the
pressure is building up on every enterprise to modemize and expand to cut costs. Gone are the
days of the license and permit raj, high import duties and the prosperity guaranteed by a “sellers’
marketl” giving way 10 a ‘buyers’ market’ in large number of industries, the compulsion to look
for economies of scale in production and cutting down the selling cost increasing.
Simultaneously, the virtual scrapping of the MRTP provisions and relaxation in FERA have
removed the disincentive to grow. Hence, mergers, amalgamations and take —over have assumed
greater importance, Mergers and acquisitions have now come to represent a short — cut for
companies to achieve accelerate growth, This is the trend world over and India cannot remain an
exceplion as it moves towards globalization.

41. What was the motive of some companies to resort to demerger?
A) To boost their productivity and profitability
B} To bypass the Unfavorable legal provisions
) To bring about qualitative changes
)} To increase the number of companies under their control

42. The phrase ‘sellers’ market’ giving way to ‘buyers’ markel” means:
A} Increase in production is proportionate to the demand
B} Increase in demand is disproportionately higher than the supply
) Market is financially in favor of consumers as compared to in the past
D) Industry’s profit margin is enhanced

43. Which of the following is true about Indian Industry's scenario prior to July 19917
A} There had been pressures from the World Bank and the IMF
B} It was exposed to serve competition on national and international fronts
) Liberalization process was at its peak
) None of the above

44. Which of the following is not an outcome of Indian Industry*s exposure to competition?
A) Switching over to expansion B) Reduction in selling cost
) Adopting new technologies ) None of the above

45. For which of the following were the amalgamations largely used in the past?
A} Saving on Taxes payable to the Government
B} Forcing the Government to adopt liberalization process
C}) To achieve accelerated growth
D) Overcoming the provision of revival of sick units

46. The mergers of companies in the past and present differ in respect of which of the
following?

A) Tax benehis B) Pace of growth  C) Objectives ) Modalities

47. Which of the following is true about Govemnment’s on import duties?
A) Import duty is lowered in order to encourage imports.
B) Import duty is raised in order to discourage buying of foreign good
C) Import duty is now lowered to encourage healthy competition
D) Import duty is raised in order to earn substantial revenue
(3)



48. The changing scenario, as described in the passage, is most likely to result into:
A) Exorbitant profit margin in industry despite financial respite 10 consumens
B) Reasonable profit margin to industry and marginally higher cost to buyers
() Separation of two or more companies which had merged into one
D) Adequate profit margin to industry despite lower prices

49. The term ‘demerge’ as used in the passage means:
A) Formulation or two or more companies out of an existing one
B) Re-union of companies which had split out of one company
() Separation of two or more companies which had merged into one
D) Renaming a company to claim tax benefits

50, Which of the following inferences can be drawn from the passage?

A) In the cighties, the change in FERA and MRTP provisions provided the necessary
impetus for growth

B) FERA provisions were counter — productive to industrial growth earlier

) 1t is only the external financing agencies, pressure that has compelled Indian industry
to adopt the present structure

D) Most of the business houses were not inclined for using the merger — tactics for
revival of sick units ‘

Directions Q. Nos. (51 - 53): In each of the questions below, choose the group of words that
shown the same relationship as given in every question.

§1. Music : Guitar : : Performer

A) Trick : Rock : Acrobat B) Dance: Tune : Instrument
) Food : Recipe : Cook D) Patient : Medicine : Doctor
52. Talk : Whisper : Shout
A) Boredom : Tiredness : Rest B) Touch : Hold : Embrace
C) See : Look : Watch D} Create ; Form : Make
£3. Clay : Potter ; Pots
A) Doctor: Injection : Pills B) Cloth : Tailor : Clothes
C) Blackboard: Chalk : Teacher ) Electricity : Bulb ; Light

54. In a certain EXERCISE is written as *39371263" and ‘BENLY is written as *5348". How
would SCIENCE be written in that code.
A) 6234824 B) 6123413 C) 6321431 D) 6457847

55, ‘BNDM" is related to *ESKV" in the same way as “KSFV" is related to:
A) MXNE B) VSNX C) ZUKF D) NXME

56. If “rose’ is called ‘popy’, ‘popy is called ‘lily’, ‘lily* is called *lotus’ and ‘lotus’ is called

*Jasmine” which of the following is the king of flowers?
A) Rose B) Lotus C) Popy [} Jasmine
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Directions Q. Nos. (57 — 66): Read the comprehension carefully and answer the questions
mentioned below:-

A recent report titled” Women and Children in India’ and a nearly simultaneous repor on :
[ndian Women — their health and economic productivity’ highlight the international importance
being given 1o the problems of the progress of Indian women.
Unfortunately, bath the report fails to either convey a fresh understanding of the issue or to suggest
innovative and workable approaches for women's development. The former is because the reports
restrict themselves to old statistics. We are told , for example, that the ratio of women to men
remain below its natural level and that it is related to other parameters, such as the level of literacy
and the availability of primary health care.
The failure to suggest a fresh approach is less understandable given that a variety of approaches (o
women's development has been tried out all over the world. In India, the state has made a strong
political and economic commitment to women, In 1990, the National Commission of Women was
established. In 1989, two major policy documents were released. Ever since the Sixth Five Year
Plan, there has been a special section on Socio- economi¢ — programmes for women. Poverty
alleviation programmes have a 30 per cent target for women. Special programmes like
development of Women and Children in Rural Areas have also been started
These governmental and other approaches have had mixed results. For examples, SEWA's (Seif
Employed Women' Association) and WWF's( Working Women's Forum) approach of using bank
credit to organize self — employed women has worked well. So also women's literacy programmes
in Kerala. On the other hand some of the legislated reforms like dowry prohibition have not
worked well, The issue of whether women should be identified as separate participants in the
development process is also controversial. '
In this context, it is disappointing to read in one of the reports that one of the government's
targets for 1991- 95 ought to be foster An ethos of caring in the community, not to let child go
to bed hungry,” be subjected 1o a preventable disease or remain without learning opportunity - J."
this could mark the beginning of social process toward a more humane order’ is the repon .
saying then the Indians don’t love their children as a matier of policy makers. It is very
unfortunate that these reports have become superficial and don’t delve sufficiently deep into the
problems.

57. Which of the following is correct in the context of the passage in regard 1o development
schemes?
A) All people are of the opinion that women should be given special status
R} Some people hold the opinion that women should not be given special status
() No one feels that women should be given special status
D) There is no controversy regarding women being given special status

58. Which of the following is specifically put forward as a reason for the unequal sex ratio in

the population?
A) Natural causes B) Economic development
Cy Literacy level D) Socio - economic programmes

59, Which of the following is not put forward by the author of passage as defect of the reports?
A) They highlight the problems of Indian women
A} They contain outdated statistical data
C) The reports have not suggested any new measures
[y Some of them suggested many new measures
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60. Which of the following is true in the context of the passage?
A) Culturally, Indian don’ts love their children
B) All development programmes and schemes generally a success
C) Indian women don't manage their finances well
[}} None of the above

61. Which of the following has not been mentioned as necessary, in one of the report, to start

new social order?
A) Prevent hunger of children B) Prevent disease in children
C) Increase education opportunities D) Community care of children

62. Why does the author say that the report are unable to convey a ‘fresh understanding of

issues?

A) The problems are dealt with superficially

B) Old data are used in the reports

C) Some of the development schemes are not dealt with
D} Indian problems cannot be understood by foreigners

63, Which of the following is conveying the same meaning as the ‘target’ is used in the

passage?
A} Aim B) Margin C) Attempt D) Quota
64. Which of the following is conveying the same meaning as the word *mark’ is used in the
passage?
A) Symbol B) Sign C) Distinguish D) Notice

65. Which of the following is false according to the passage?
A) The problem of women in general is in attention the world over
B) National Commission of women is an attempt for women' development
C} Indian people love their children and try to take care of them
13} Right from independence, women have been receiving dowry failed in India.

6. Why has according to the passage, the legislation prohibiting dowry failed in India?
A) Due to the cultural ethos in the country
B) Because of the fact that it was passed as law
) No social organization were involved in this
D} None of the above

67. If the radius of the circle is increased by 50% , then what will be the increase in its area?
A) 125% B) 100% C) 75% D) 50%

68. If table is called chair, chair is called cot, cot is called pot and pot is called filter. Where

does a person sit?
A) Cot B} Pot C) Chair D) Filter

69, “Bull’ is related to ‘Cow” in the same way as * Horse® related to:
A) Animal B) Mare | C) Stable D) Meat

T0. “Numismatic® is related to * Coin" in the same way *Paleontology” is related to:
A) Earth B) Soil ) Fossils D) Stone
(8)



71. Two numbers are the ratio 3:5, If 9 is subtracted from the numbers, the ratio becomes

12:23, The numbers are:
A 30,50 B) 36,60 C) 33,55 1) 42,70

72. The mean of the ages of father and his son is 27year. After 18 year, father will be twice as
old as his son. Their present ages are:

A) 42,12 B) 40,14 C) 30,24 D) 36,18

73. If the series 4, 5, 8, 13, 14, 17,22 is continued in the same patterns, which one of the
following is not a term of this series.
A) 3l B) 32 C)33 D) 35

T4, The mean mark obtained by a class of 40 students is 65. The mean marks of half of the
students is found to be 45. The mean marks of the remaining students is:-

A)BS B) 60 &3 70 D) 65
75. How many times do the hands of a clock point towards each other in a day?
A) 24 B) 20 C) 12 Dy 22

76. A merchant buys R2.34650 worth of goods, On the way 40%%of the items get damaged. He
is forced 1o sell them at a loss of 10%. At what profit percentage should he sell the

remaining item to have an average overall profit of 20%7
A) 20% profit B) 25% profit C) 40% profit D) 50 profit

77. Devikar's income is Rs, 960. She saves Rs. 192, What % does she save?
A} 25% B) 12% C) 20% D) 18%

-

78. The number of students in a school increased to 477 from 430 in the previous year. What

was the percentape increase?
A) 5% B) 8% C) 9% D) 6%

79, In a family of 9 males and 11 females, a pair of twin sister is born. What is the percentage
of females in the family now?

A) 50% B} 55% C) 45% D) 59%

80. If Rs. 450 amount to Rs. 540 in 4 Years. What will it amount to in 6 years al the same rate
percent”
A)Rs. 720 B) Rs.585 C) Rs. 700 ) Rs. 640

81. A money lender lends Rs. 90 and collects Rs. 100 at the end of the six months. The rate

of interest p.a. is:
A) 10% B}EIE% C) 11%% ) 10%

82. The population of a town increases from 50,375 to 72,412 is 10 years. What is the

average simple annual increase percent in the population?
A 1.4% B)4.4% C) 3.04% D) 3.74%

(%)



83. When the price of sugar rose by 25% a householder reduced his annual consumption by
25%. His yearly expenditure on sugar then became Rs. 300. What was it before in

rupees?
A) 310 B) 350 C) 320 D) 315

B4. What is the decimal equivalent of 0.342 in base 57
A}0.342 B) 0.776 C)0.92 D) 0.684

85. A earmns 20% more than B and spends 10% more than B. If B saves Rs. 60 form his
income of Rs. 600, 4000 much does a save in rupees?
A) 184 B) 126 C) 144 D) 108

B6. A sum of Rs. 550 is to be repaid in two equal installments, If the rate of interest be 20%
compounded annually | then the value of each installment is:
A) Rs. 390 B) Rs. 360 C) Rs. 400 D) Rs. 275

87. Rubal sells his goods 20% cheaper than Hema and 20% dearer than Mohan, By what

percentage are Mohan's goods cheaper / dearer than Hema's?
A) 33.33% B) 0% C) 42.55% D) 50%

88. Afier three successive equal percentages raises in the salary. The sum of 100 rupees mmed
into 140 rupees and 49 Paisa. Find the percentage rise each time?
A) 12% B) 22% C) 66% D) 82%

89. | have been alive for a billon seconds. Approximately how many years old am I7
A) 10vears B) 22years C) 32 years D) 40 years

90. A redl estate agent sells two sites for Rs, 22500 each. On one he gain 20%% and other he

loses 20%. What is his loss or gain percent?
A) 4% gain B) 4% loss C) 3%loss D) 3% gain

91. A tradesman marks his goods 20 percent above the cost price and allows his customers
10% reduction of their bills. What percent profit dies he make?
A) 16% B) 8% C) 10% D) 12.5%

91. In & parking lot, every third car is red and every fourth car is white. What could be the
maximum number of car is that parking lot?
A) 12 B) 16 C)13 Dy 11

93. Three year ago, the average age of A, B and C was 27 years and that of B and C, 5 years

ago, was 20 years. A's present age is:
A) 30 Years B} 35 Years ) 40 Years [3) 48 Years

94. Parvin had 9 pair of shoes and lost laces for 4 of them. What % of the total Pairs can he
wear now?

A) 55.55% B) 44.44% C)22.22% D) 77.77%

95. Arvind got 7 out of 18 in English and 8 out of 17 in Math. What was his overall
percentage?
A)42.85% B) 43.28% C) 87.23% D) 39.33%
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96. Complete the series: 4, &, 16, 64,128.......... 7

A) 256 B) 512 C) 1024 D) 2048
97, In a certain code, if SAND is written as “TBOE’, then how is GATE writien?
A) FMNO B) HBUF C)FZSD D)y HBUD
98. Mary has 3 children. What is the probability that none of the children is a boy?
A) ¥ B) ' C) % D) 'g
99, What is the missing number in the series?
5,7, 11,17, 25, 35,47, 61 7
A) 73 B) 77 C)79 D) 81
100. If 18514 stands for AHEAD. What dies 31385 stands for?
A) CATCH B) CASSET C) CONQUUR D) CACHE
X-X-%
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